Figure 1 : Overall survival and progression free disease according to the eligibility of autologous stem cell transplant and to the line of treatment
 (A) Overall survival (OS) according to the eligibility of autologous stem cell transplant (ASCT)			(B) OS according to the line of treatment if no ASCT[image: \\had-bessieres\users$\3165679\Bureau\OS_PFS.png]

[image: \\had-bessieres\users$\3165679\Bureau\OS ASCT.png]
(C) Progression free-survival according to the eligibility of ASCT							[image: \\had-bessieres\users$\3165679\Bureau\PFS si ASCT.png]
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